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3.  4a*(x-5)-2a(5-x) & AFEolstH?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
® 2a(x-5)(2a+1) @ 2a(5-x)(2a+1)

® 2a(x-5)(1-a)
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® 6x2-11x-10
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OJAFFAFA (x+1)(2x-5) =02 ax’ + bx+c=0 9 H=Z 113 o,
a, b, ¢ o F27

Da=-2,b=-3, c=-5 @ a=2,b=-3,c=-5
®a=-2,b=3,c=5 @ a=2,b=3,¢c=5

®a=-2,b=3,c=-5
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19] E5 H 1 sinx = 0.6691 4 o, x 9] gt29

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°



15. o2 47|19 BE H 3 sin 70° 4 cos 50° X sin 25° + tan 70° 2] 4
b7

pAdey sin cos tan
25° 0.42 0.90 0.46
50° 0.76 0.64 1.19
70° 0.93 0.34 2.74
® 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 ® 3.9588



16. o= ™A 2x 9 2y o] 27]1E AEd 2 Bt=A] 2t 22

@® 38°, 90° @ 48°, 80° ® 80°, 48°

@ 90°, 38° ® 98°, 30°
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® 90°, 83°
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® /FAB = (FEC @ (FDC = (FEB

® /AFE + /ECD = 180° @ AB//CD

® (FEC + (FDC = 180°
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